PRECISIOI] LOCRIUTS FOR BEARINGS

www.yinsh.com www.yinsh.com.tw







PRECISION LOCRNUTS FOR BEARINGS

H 2% 32 5|

10 BEIFRERIRMWEH I

11 70 LB BE — 2R 52 B HY #5 & IR 18
11T BEIREERHEA

12 ABRBRESKRETHBEIRIE

12 B2 108K B IE#ETDIN

12 BREBRERIEIZEEIE




fmet: (M) UALERERSS

BN OBEBIEZNZET]

(2)INm=10.2kgf.cm=0.731b.ft

.
9
+ ol o
) A
: A
\ / P
0.5 |

o Tweas | D | h | d | ntxg | m | MAKNm
30 14 25 3-4 X 2 M5 4.5

30 14 25 3-4 X 2 M5 4.5
30 14 25 3-4 x 2 M5 4.5

32 16 27 3-4 X 2 M5 4.5
32 16 27 3-4 x 2 M5 4.5

38 16 33 3-4 X 2 M6 4.5
38 16 33 3-4 X 2 M6 8.0

38 16 33 3-4 X 2 M6 8.0
38 18 33 3-5 X 2 M6 8.0

38 18 33 3-5 X 2 M6 8.0
40 18 35 3-5 X 2 M6 8.0

45 18 40 3-5 X 2 M6 8.0
50 18 45 3-5 x 2 M6 8.0

52 18 47 3-5 X 2 M8 18.0
52 18 47 3-5 X 2 M8 18.0

58 20 52 3-6 X 2.5 M8 18.0
58 20 52 3-6 x2.5 M8 18.0

62 20 56 3-6 X 2.5 M8 18.0
65 20 59 3-6 x 2.5 M8 18.0

70 20 64 3-6 x 2.5 M8 18.0
70 20 64 3-6 x2.5 M8 18.0

73 22 66 3-7 x 3 M8 18.0
75 22 68 3-7 x 3 M8 18.0

75 22 68 3-7 x 3 M8 18.0
75 22 68 3-7 x 3 M8 18.0

80 22 73 3-7 x 3 M8 18.0
85 22 78 3-7 x 3 M8 18.0

85 22 78 3-7 x 3 M8 18.0
92 24 84 3-8 x 3.5 M8 18.0

92 24 84 3-8 x 3.5 M8 18.0
94 24 86 3-8 x 3.5 M8 18.0

98 24 90 3-8 x 3.5 M8 18.0
98 24 90 3-8 x 3.5 M8 18.0




YSF A I8 iH X

YSFEHETD T » BBENFE3IH» —HINEHE : TEMM
ANEREEmM HIEBZERHETERE » BEEREE I L2 1%
N TERESRABRBNL  FHIORURTEZBHBRERR
H30° BRI AT » B TERBIBRIZFGEMELERJEE -
(LE 7D EB 4 23R &8 38 B (0] & 1a7)

I

* B : SCM440(42CrMo4)
® fif € : HRC 28° ~ 32°

o IRMIBE : 1ISO 4AHKEHERE

o LEIREHEE : M14 ~ 200 : 0.002mm
¢ IZHFEE : 1ISO 4HEZEH|

o ‘LHEH{FE : M14 ~ 200 : 0.005mm
o 'HE{RHE : M210 ~ 300 : 0.007mm

o Twes D b4 nixg | m
105 24 96 3-8 x 3.5 M8 18.0
110 24 102 6-8 x 3.5 M8 18.0
120 26 108 6-10 x 4 M8 18.0
125 26 113 6-10 x 4 M8 18.0
130 26 118 6-10 x 4 M8 18.0
140 28 125 6-10 x 4 M10 35.0
145 28 132 6-10 x 4 M10 35.0
150 28 137 6-10 x 4 M10 35.0
155 30 142 6-12 x 5 M10 35.0
160 30 147 6-12 x 5 M10 35.0
165 30 152 6-12 x 5 M10 35.0
175 32 160 6-12 x 5 M10 35.0
180 32 165 6-12 x 5 M10 35.0
190 32 175 6-12 x 5 M10 35.0
195 32 180 6-12 x 5 M10 35.0
200 34 180 6-14 x 6 M10 35.0
210 34 190 6-14 x 6 M10 35.0
210 34 190 6-14 x 6 M10 35.0
220 34 200 6-14 x 6 M10 35.0
230 36 205 6-16 x 7 M12 60.0
240 36 215 6-16 x 7 M12 60.0
250 38 225 6-16 x 7 M12 60.0
260 38 245 6-16 x 7 M12 60.0
270 38 255 6-16 x 7 M12 60.0
280 40 258 6-16 x 9 M12 60.0
290 40 268 6-16 x 9 M12 60.0
300 40 278 6-16 x 9 M12 60.0
310 40 288 6-20 x 10 M14 100.0
320 40 298 6-20 x 10 M14 100.0
330 40 308 6-20 x 10 M14 100.0
340 42 315 6-22 x 11 M14 100.0
350 42 325 6-22 x 11 M14 100.0
R

www.yinsh.com | www.yinsh.com.tw




16
16
18
18
20
20
s
20
28
28
30
32
32
39
33
38
42
45
52
52
290
538
58
62
65
68
70
73
i
9
77
80
85
85
92
92

B, N . . . . . . . . N, ., N, . . . . (s, O, \pp . N, N, (. . . == ¥
o [ o (@ o @] o 5 > B A B A EE A I N I N B B o B o Sl o B ° B O =y 00 =y O

18

0O N NNANANNANOOO OO OO0 OO0 01 O11O1OLrOWhA PP DPAEAPAEDEOLWOWLWLWWLWWWOW

oo

fmet: (MULERERSZ > BHLTIEBENIET]

— — e

N NN N DN DN DN

3.9
3.9

0.002

A

11
11
13
13
15
1/L5
20
20
23
25
25
27
27
30
33
33
37
40
45
47
49
02
02
o6
09
62
64
66
68
68
70
Ti
/8
/3
84
84

T

0.5

(2)1Nm=10.2kgf.cm=0.731b.ft

3.9
3.0
3:D
3.9
3.9
3.9
3.9
3.0
4.5
4.5
4.5
4.5
4.5
4.5
3.0
8.0
8.0
8.0
8.0
8.0
8.0
8.0
8.0
8.0
8.0
8.0
18.0
18.0
18.0
18.0
18.0
18.0
18.0
18.0
18.0
18.0




YSR & [0 iH &E
YSREEEDINREOQ=FAI\NEHE r HEEMHREMEM®

s BAHRIRBEEEZEZZIRG » BAEREEEMLZ
& o

I

* B : SCM440(42CrMo4)
o fif € : HRC 28° ~ 32°

o IZFFEE : 1SO 4HIZG B I E

o LHEIF®EE : M6 ~ 200 : 0.002mm
o IZFAEE : ISO 4HFBEBEH|

o LH{REE : M6 ~ 200 : 0.005mm

o ‘' E{Fm#EE : M210 ~ 300 : 0.007mm

v

18

3.9

95 8 | 86 3-M8 18.0
98 18 8 3.5 90 3-M8 18.0
100 18 8 3.5 92 3- M8 18.0
105 18 8 g5 96 3-M8 18.0
110 18 8 3.5 102 3-M8 18.0
120 20 10 4 108 3-M8 18.0
25 20 10 4 113 3-M8 18.0
130 20 10 4 118 3-M8 18.0
140 22 12 5 125 3- M8 18.0
145 22 12 5 132 3-M8 18.0
150 22 12 5 27 3-M8 18.0
65 24 12 5 142 3-M8 18.0
160 24 12 B 147 3 - M8 18.0
165 24 12 5 152 3- M8 18.0
175 26 14 6 160 3-M10 35.0
180 26 14 6 165 3-M10 35.0
190 26 14 6 175 3-M10 35.0
195 26 14 6 180 3-M10 35.0
200 28 16 7 180 3-M10 35.0
210 28 16 7 190 3-M10 35.0
210 28 16 7 190 3-M10 35.0
220 28 16 7 200 3-M10 35.0
230 30 18 8 205 3-M12 60.0
240 30 18 8 215 3-M12 60.0
250 32 18 8 225 3-M12 60.0
260 32 18 8 240 3-M12 60.0
270 32 18 8 250 3-M12 60.0
280 34 20 9 258 3-M12 60.0
290 34 20 9 268 3-M12 60.0
300 34 20 9 278 3-M12 60.0
310 34 22 10 288 3-M14 100.0
320 34 22 10 298 3-M14 100.0
330 34 22 10 308 3-M14 100.0
340 36 24 11 35 3-M14 100.0
350 36 24 11 325 3-M14 100.0

www.yinsh.com |

www.yinsh.com.tw




/2 0.002 A— |

0.5

-

SA

e D | h | g |t | d | _nm_ | VAKNm _
30 14 4 2 25 2 - M4 3.5
30 14 4 2 25 2 - M4 3.5
30 14 4 2 25 2 - M4 3.5
32 16 4 2 27 2 - M4 3.5
32 16 4 2 27 3 - M4 3.5
38 16 4 2 33 3 - M4 3.5
38 16 4 2 33 3 - M4 3.5
38 16 4 2 33 3 - M4 3.5
38 18 & 2 33 3 - M4 3.5
38 18 5 2 33 3 - M4 3.5
40 18 5 2 35 3 - M4 3.5
45 18 5 2 40 3 - M4 3.5
50 18 5 2 45 3 - M4 3.5
52 18 5 2 47 3-M6 8.0
52 18 5 2 47 3 - M6 8.0
58 20 6 2.5 52 3-M6 8.0
58 20 6 2.5 52 3-M6 8.0
62 20 6 2.5 56 3-M6 8.0
65 20 6 2.5 59 3-M6 8.0
70 20 6 2.5 64 3-M6 8.0
70 20 6 2.5 64 3-M6 8.0
73 22 7 3 66 3-M6 8.0
75 22 7 3 68 3-M6 8.0
75 22 7 3 68 3-M6 8.0
75 22 7 3 68 3-M6 8.0
80 22 7 3 73 3-M6 8.0
85 22 7 3 78 3 - M6 8.0
85 22 7 3 78 3-M6 8.0
92 24 8 3.5 84 3 - M8 18.0
92 24 8 3.5 84 3-M8 18.0
94 24 8 3.5 86 3 - M8 18.0
98 24 8 3.5 90 3-M8 18.0
98 24 8 3.5 90 3 - M8 18.0

B5t: M ALEREEHSE - BHLATEBEZENZET] (2)1Nm=10.2kgf.cm=0.731b.ft




YSA 2 [A) 3§ €

YSASRED INREO =%T\IHE - EEEHEYSFRI|MEE -
B =R TR ER BT » BARKE LIFRVRRIRIFER
il ©

I

* B : SCM440(42CrMo4)
® fiff B : HRC 28° ~ 32°

o IZFVASE : ISO 4HIB B IAE

o LEIREHEE : M14 ~ 200 : 0.002mm
o IZFAEE : 1SO 4HB B EH|

o ‘LHEH{FE : M14 ~ 200 : 0.005mm

o ‘' E{Fm#EE : M210 ~ 300 : 0.007mm

I T N A T Y T
105 24 8 3.5 96 3-M8 18.0
110 24 8 3.5 102 3- M8 18.0
120 26 10 4 108 3 - M8 18.0
125 26 10 4 113 3-M8 18.0
130 26 10 4 118 3 - M8 18.0
140 28 12 5 125 3 - M8 18.0
145 28 12 5 132 3 - M8 18.0
150 28 12 5 137 3- M8 18.0
155 30 12 5 142 3 - M8 18.0
160 30 12 5 147 3- M8 18.0
165 30 12 5 152 3 - M8 18.0
175 32 14 6 160 3-M10 35.0
180 32 14 6 165 3 - M10 35.0
190 32 14 6 175 3 -M10 35.0
195 32 14 6 180 3-M10 35.0
200 34 16 7 180 3-M10 35.0
210 34 16 7 190 3-M10 35.0
210 34 16 7 190 3 -M10 35.0
220 34 16 7 200 3-M10 35.0
230 36 18 8 205 3-M12 60.0
240 36 18 8 215 3 - M12 60.0
250 38 18 8 225 3-M12 60.0
260 38 18 8 240 3-M12 60.0
270 38 18 8 250 3-M12 60.0
280 40 20 9 258 3 - M12 60.0
290 40 20 9 268 3-M12 60.0
300 40 20 9 278 3-M12 60.0
310 40 22 10 288 3-M14 100.0
320 40 22 10 298 3-M14 100.0
330 40 22 10 308 3-M14 100.0
340 42 24 11 315 3-M14 100.0
350 42 24 11 325 3-M14 100.0
N

www.yinsh.com | www.yinsh.com.tw




34
37
38
40
40
42
44
45
45
46
48
50
53
56
58
60
68
69
70
72
75
75
82
84
84
86
88
88
93
95
95

18
18
18
18
18
18
18
20
20
20
20
22
22
22
22
22
22
25
29
25
25
2
26
26
26
28
28
28
28
28
28

29
32
33
35
35
37
39
40
40
43
45
47
50
53
55
55
63
65
66
68
71
71
77
79
79
82
84
84
87
89
89

fmet: (MULERERSZ > BHLTIEBENIET]

4-M4 x 12
4-M4 x 12
4 -M4 x 12
4-M4 x 12
4-M4 x 12
4-M4 x 12
4-M4 x 12
4-M4 x 14
4-M4 x 14
4 -M4 x 14
4 -M4 x 14
4 -M4 x 16
4 -M4 x 16
4 -M4 x 16
4 -M4 x 16
4 -M4 x 16
6-M4x16
6-M4x18
6-M4 x 18
6-M4x18
6-M4x18
6-M4x18
6 - M5 x 20
6 - M5 x 20
6 -MS x 20
6 - M5 x 20
6 - M5 x 20
6 - M5 x 20
6 - M5 x 20
6- M5 x 20
6 - M5 x 20

0.005

IIIIIIIIIIII

IIIIIIIII

IIIIIIIII

[[[[[[[[[[[[

IIIIIIIII

o OO OO OO O O 06O 60 60 600 600 00 60 0O OO b A B D D A D MDD P~ P~ PHAHA PHP BB DA P B

0.5

N N N OO OO 6O OO OO 6O 600 OO0 60O O OO0 6O O O O 1 O O1r O O O A A A D A b D

(2)1Nm=10.2kgf.cm=0.731b.ft

24
27
28
30
30
32
34
35
35
37
39
41
44
47
49
51
57
58
60
62
65
65
70
72
72
75
77
77
80
82
82

3.0
3.9
3.9
3.
3.9
3.9
3.9
31D
3.9
3.9
3.9
3.9
3.9
3.0
3.9
3:9
3.9
3.9
3.9
3.0
3.9
3.0
4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5




YSK #F 2%

YSKEEE DT\ HMN HH# M AXBERVEME » DIEHQFEE - 53l $5
E - - AEMBRAFEH TFIRIEES ~  BIESRZKB S
5 HETETNREBEMRIFEIIE 3 BLUL  RERSEEE -
YSKEZETHYEHE O I\ » B EE ERVERZE » N AR E
BRIV EERESEIRES -

il
Il

g il

* 1]
® fiif
® IR
* ‘LH
* '

: SCM440(42CrMo4)iAE
: HRC 28° ~ 32°

: |ISO 4HB R EH|

: M16 ~ 200 : 0.005mm
: M210 ~ 300 : 0.007mm

JIH

]
i

g

-
'.]III':H
A1

ol 28 91 6 - M5 x 20 6 it 84 4.5
100 28 94 6 - M5 x 20 6 it 87 4.5
100 28 94 6 - M5 x 20 6 e 87 4.5
110 92 103 6 - M6 x 22 6 8 &5 8.0
119 32 108 6 - M6 x 22 6 8 100 8.0
120 B2 113 6 - M6 x 22 6 38 105 8.0
125 32 118 6 - M6 x 22 6 8 110 8.0
130 5 123 6 - M6 x 22 6 8 115 8.0
1599 £ 128 6 - M6 x 22 6 8 120 8.0
140 32 133 6 - M6 x 22 6 8 125 8.0
145 34 lis7 6 - M6 x 22 6 8 130 8.0
155 36 146 6 - M6 x 25 6 8 136 8.0
160 36 150 6 - M6 x 25 6 38 140 8.0
165 36 155 6 - M6 x 25 6 8 148 8.0
180 38 168 8 - M6 x 25 8 10 160 8.0
190 38 178 8 - M6 x 25 8 10 170 8.0
205 40 190 8 - M8 x 30 8 10 178 18.0
215 40 200 8 - M8 x 30 8 10 193 18.0
230 40 213 8 - M8 x 30 8 10 205 18.0
240 40 223 8 - M8 x 30 8 10 219 18.0
245 40 230 8 - M8 x 30 8 10 223 18.0
250 42 240 8 - M8 x 30 8 10 232 18.0
260 42 250 8 - M8 x 30 8 10 240 18.0
270 42 260 8 - M8 x 30 8 10 250 18.0
280 42 270 8 - M8 x 30 8 10 260 18.0
290 42 280 8 - M8 x 30 8 10 270 18.0
300 43 290 8 - M10 x 30 8 12 280 35.0
310 43 300 8 - M10 x 30 8 12 290 39.0
320 43 310 8 - M10 x 30 8 12 300 35.0
330 43 320 8 - M10 x 30 8 12 310 39.0
340 43 330 8 - M10 x 30 8 12 320 39.0

www.yinsh.com

www.yinsh.com.tw




fmat: (1)ALEREHR

365
375
380
395
405
415
425
435
445
465
475
485
495
000
215

22, RBADHETIERZIEN

C i

42
42
42
42
44
44
44
44
44
46
46
46
46
46

.r'—h'

EUENE BHIZE BTl - EEgiEEE

340
350
360
370
380
388
398
408
418
438
444
454
464
474
484

6 x 24 D22
6 x 24 D22
6 x 24 D22
6 x 24 D22
6 x 24 D22
6 x 26 D24
6 x 26 024
6 x 26 024
6 x 26 D24
6 x 30 926
6 x 30 026
6 x 30 926
6 x 30 D26
6 x 30 926
6 x 30 ©26

0.008

L

0.0

N e-ob

YSFRUECELURDE - [B) 55 B & 31 A B 3H TE 1% i Al 3 {E 1

O) 3H RE IR A% » e AR Y 8LV I ZB = B RY R XE 73 VAL
HETIFE -

* M

® f

o IZINMIE :

o

A

o ‘MH R #E -

12
12
12
112
12
13
13
13
13
13
113
[
15
19
1=

e aw
=
E:

(2)1Nm=10.2kgf.cm=0.731b.ft

: SCM440(42CrMo4):
ARC 268 ~ 32

1ISO 4HEEEH|
0.008mm

338 M14 M14
348 M14 M14
358 M14 M14
3638 M14 M14
378 M14 M14
387 M16 M16
397 M16 M16
407 M16 M16
417 M16 M16
435 M16 M16
443 M16 M16
452 M16 M16
462 M16 M16
472 M16 M16
482 M16 M16

r

=

100.0
100.0
100.0
100.0
100.0
150.0
150.0
150.0
150.0
150.0
150.0
150.0
150.0
150.0
150.0




B o) = &), 5E /)

30
35
40
60
80
90
130
160
190
210
240
300
340
380
460
490
520
620
650
680
710
740
770
800
830
860
890
920
950
980
1010
1040
1070
1100
1130
1160
1220
1280
1340

~J
(@) |

27.5
28.9
30.4
32.4
39.2
46.1
61.8
70.6
88.2
98.0
127.9
147.1
152.0
156.9
176.5
186.3
201.0
220.6
236.3
252.0
268.1
279.4
2892
313.1
3929
392.2
436.3
480.4
DilgH
563.7
598.0
647.1
686.3
135.3
7941

YSR

17.6
18.1

19.1

20.6
21.6
24.0
26.5
28.4
34.3
36.3
56.9

63.7

68.6

96.1

112.7
{[E T
145.1
149.0
168.6
178.4
193.1
210.8
215.7
230.4
250.0
264.7
274.5
294.1
328.4
LD
402.0
421.6
460.8
509.8
529.4
558.8
558.2
627.5
666.7

www.yinsh.com

RITE R IR

*a iR 7 7B

YSA

24.5
26.0
27.5
29.4
37.3
42.2
58.8
65.7
73.5
81.4
88.2
96.1
102.9
112.7
1275
137.3
152.0
1716
186.3
205.9
220.6
239.3
250.0
264.7
303.9
JeS D
352.9
392.2
421.6
460.3
495.1
519.6
558.8
598.0
637.3

YSK

90.0
99.0
101.0
102.0
109.8
110.8
127 .
137.3
166.7
205.9
254.9
313.7
382.4
460.8
549.0
656.9
745.1
833.3
99/7.2
11275
1242.3
135230
1389.4
1421.5
1976:0
1610.3
1680.4
1710.0
1850.2
1931.1
19882
2052.0
2214 .1
2596.4
20 31.2

www.yinsh.com.tw

10




11

YI&SH B IHEIENE BiHigie BEZTH - B IEEH
®

BEIRIEERE O

0 T fff BE — 2R 52 BY mEmzimie

Zic TE BN A RIRIFIR SN HEF A > B F & A 7R B if HY 3H iE U%
g - XNV EE SN FENREEEX > RAMSEmASSHIE
B SmURKELHEE - ARG EEZKBIRIERIEMR
FRIETEI B NS REMERET L ZK » B EANLRNLARIGE @ [E

i 00 LAt R — R e Z FBZIRIE RS » LIFABC 5 B /2 5] ST =Y

W st -

\
{F FH =srzime




RRITHER BHEIEmEBHBEEIRNE

BuBERFTPRNERURERIME » LUSHRERBERE - F/INEET - 526832 T 8 R
KRR EBESHBERE > KETHAETHERTHEERBEFERSSN

15 & U% I8 5< Bo LE B 75 3\

o MERMANIZNHIALRE -

o EAAIRAM ~ NEMBLEF » W1 LEE R (BZIREIEELEMR) -
FFEIRIAS N RN R EE R E2/F » WINABEBH -

e HEEN TARRFERFBLURTNEEE T (FFZER) -

o RIFEEHVIHIETIFE » IREBFALRMR

o FHBIRIESRIRIG

REREREKISSE

=punrAl= N SLES

AEE T HAERFMEERM

t]) 7] & B it 7

www.yinsh.com | www.yinsh.com.tw 12




E-catalog

2 B R ¥ LXEKEIIDSHBEKRLQGT

SEEHM(406)) EEBRR//INE —K31682615k
Tel: +886-4-2244-7899 E-mail: service@yinsh.com
Fax: +886-4-2245-2402 http://www.yinsh.com

SH 2= o5 4= o e e TuV NORD \“
y 1 oo 7 18 s 1SO9001 R
Calibration Laboratory Testing Laboratory I S 0 1 4 0 0 1 gé iii]f? F10E
® 3151 2867 OHSAS18001 IBAE  ERSEELE

Designed by S&JCorp. +886-4-37038989

October 2017



